
 

 

 

 

 

  TS="delirium" or AB=” delirium” or TI="delirium ") 

 

Downloaded to MS Excel with 20606 records 



 

 

 

Predict article citations using the keyword IF 



 

 Organizing data in MS Excel 

 



 

 

 



 

 

SNA 



 

 
Codes for Pajek 



 

 

 



 

 Results from SNA and transform data into data below 

 

In excel 



 

Got the HTML 

 

To draw the Alluvial plot 



 

Nodes and edges contructed 

 

 



 

To get codes for Alluvial plot 

 

 



 

  

 

 

 To match with categories to each article 

 
 Using the module to classify the category for each article 



 

To get the R code for drawing the chord diagram 

 

 



 

 

library(chorddiag) 

students <- as.matrix(data.frame(DELIRIUM = 

c(29.75,6.08,3.48,1.81,2.84,2.14,1.32,0,0.09,0.03,1,1,0.07),POSTOPERATIVE_DELIRIUM 

= c(12.73,4.02,3.93,0.33,0.07,0,0,0.92,1,1,0,0,1),BRAIN = 

c(4,1,0,2,0,0,1,1,0,0,0,0,0),HEART_SURGERY = 

c(1.92,0.05,0,0,0.04,0,0,0,0,0,0,0,0),THERAPY = 

c(1,0,0,0,0,0,0,0,0,0,0,0,0),ACUTE_RESPIRATORY_SYNDROME = 

c(1.2,0.05,0.05,0,0.7,0,0,0,0,0,0,0,0),HIP_FRACTURE_PATIENTS = 

c(0.43,0,0,0,0,0.57,0,0,0,0,0,0,0),PROTOCOL = 

c(0.06,0.56,0,0.06,0,0.22,0,0,0,0,0,0,0.06))) 

row.names (students) <- c( "U.S", "U.K", "Australia", "Netherlands", "Canada", 

"Germany", "France", "Ireland", "Spain", "South Korea", "Japan", "Pakistan", "Hong 

Kong") 

chorddiag(students, type = "bipartite", showTicks = FALSE, groupnameFontsize = 14, 

groupnamePadding = 10, margin = 90) 

ents, type = "bipartite", showTicks = FALSE, groupnameFontsize = 14, 

groupnamePadding = 10, margin = 90) 

 



Chien TW. 100 top-cited articles in this study. Online at 

http://www.healthup.org.tw/html100/delirium100.htm (accessed Oct.4, 2022) 

 

 

 



 

Top 100  

 



 

 



 

 



 

 

library(tidyverse) 

data <- 

data.frame(aa=c("1","2","3","4","5","6","7","8","9","10","11","12","13","14","15","1

6","17","18","19","20","21","22","23","24","25","26","27","28","29","30","31","32","

33","34","35","36","37","38","39","40","41","42","43","44","45","46","47","48","49"

,"50","51","52","53"), individual=c("Publications of years","Citations of 

years","Publications of countries","Publications of institute","Publications of 

department","Publications of authors","Publications of journal","Citations of 

countries","Citations of institute","Citations of department","Citations of 

authors","Citations of journal","RAs of countries","RAs of institute","RAs of 

department","RAs of authors","RAs of journal","","","","Clusters of country 

collaborations","Clusters of institute collaborations","Clusters of author 

collaborations","Clusters of keywords coword","Clusters of cited 

references","Clusters of cited keywords","Classifications of article 

themes","Classifications of countries by themes","Classifications of institutes by 

themes","Overall view using the Sankey","Comparison using pyramid","Simple 

impact beam plot ","","","","Spots and trends of articles","Spots and trends of 

keywords","Publication trends of years","Citation trends of years","Predicting article 



citations","Counts in early and recent stages using forest plot","Comparison using 

forest plots","Trends of articles using TBG or timeline map","","","","Articles worth 

reading by citation trend","Temporal heatmap for citation trend","Impact beam plot 

with bursr spots","Theme and years for articles or keywords on a map","","",""), 

group=c("A","A","A","A","A","A","A","A","A","A","A","A","A","A","A","A","A","A","A",

"A","B","B","B","B","B","B","B","B","B","B","B","B","B","B","B","C","C","C","C","C","C

","C","C","C","C","C","D","D","D","D","D","D","D"), 

value=c(50,30,50,40,30,20,40,30,20,10,10,40,20,10,5,5,5,0,0,0,45,35,35,44,22,22,20,

10,5,3,15,6,0,0,0,22,47,41,41,11,11,11,20,0,0,0,18,15,0,0,0,92,91), 

id=c(1,2,3,4,5,6,7,8,9,10,11,12,13,14,15,16,17,18,19,20,21,22,23,24,25,26,27,28,29,3

0,31,32,33,34,35,36,37,38,39,40,41,42,43,44,45,46,47,48,49,50,51,52,53)) 

# Create dataset 

#data <- data.frame( 

 

 

 

 

# Order data: 

#data = data %>% arrange(group, value) 

# Set a number of 'empty bar' to add at the end of each group 

empty_bar <- 4 

to_add <- data.frame( matrix(NA, empty_bar*nlevels(data$group), ncol(data)) ) 

 

 

colnames(to_add) <- colnames(data) 

 

to_add$group <- rep(levels(data$group), each=empty_bar) 

data <- rbind(data, to_add) 

data <- data %>% arrange(group) 

data$id <- seq(1, nrow(data)) 

  

# Get the name and the y position of each label 

label_data <- data 

number_of_bar <- nrow(label_data) 

angle <- 90 - 360 * (label_data$id-0.5) /number_of_bar     # I substract 0.5 

because the letter must have the angle of the center of the bars. Not extreme 

right(1) or extreme left (0) 

label_data$hjust <- ifelse( angle < -90, 1, 0) 



label_data$angle <- ifelse(angle < -90, angle+180, angle) 

  

# Make the plot 

p <- ggplot(data, aes(x=as.factor(id), y=value, fill=group)) +       # Note that id is a 

factor. If x is numeric, there is some space between the first bar 

  geom_bar(stat="identity", alpha=0.5) + 

  ylim(-100,120) + 

  theme_minimal() + 

  theme( 

    legend.position = "none", 

    axis.text = element_blank(), 

    axis.title = element_blank(), 

    panel.grid = element_blank(), 

    plot.margin = unit(rep(-1,4), "cm")  

  ) + 

  coord_polar() +  

  geom_text(data=label_data, aes(x=id, y=value+10, label=individual, hjust=hjust), 

color="black", fontface="bold",alpha=0.6, size=2.5, angle= label_data$angle, 

inherit.aes = FALSE )  

  

p 

 

# Library 

library(ggplot2) 

library(dplyr) 

library(hrbrthemes) 



 

# Create data 

#value1 <- abs(rnorm(26))*2 

data <- data.frame(aa=c(1,2,3,4,5,6,7), x=c("1","2","3","4","5","6","7"), 

value1=c(1,1,1,1,2,1,5), value2=c(10,10,10,10,10,10,10), 

mymean2=c(1,1,4,5,5,10,11), value3=c(2,4,6,7,8,9,10), value4=c(2,4,6,7,9,9,11), 

ipday=c(1,1,4,5,5,10,11), ipcase=c(1.79,1.48,1.98,1.95,1.85,2.06,2.28), 

type=c(3,3,3,3,4,1,1), kcolor=c("1","1","1","1","5","3","3")) 

 

 

 

 

# Reorder data using average? Learn more about reordering in chart #267 

data <- data %>%  

    rowwise() %>%  

    mutate( mymean = mean(c(ipday,ipday) )) %>%  

    arrange(desc(aa)) %>%  

 

 

    mutate(x=factor(x, x)) 

# Plot 

ggplot(data) + 

    geom_segment( aes(x=x, xend=x, y=value1, yend=value2), 

color="#33FFEE",size=1) +geom_segment( aes(x=x, xend=x, size=.2, y=value3, 

yend=value4), color="red",size=2.1) + 

    geom_point( aes(x=x, y=value3), color="red", size=1.1 ) + 

    geom_point( aes(x=x, y=value2+1, size=ipcase,  color=kcolor)) +   

geom_point( aes(x=x, y=mymean), color=rgb(0.2,0.2,0.2,1.0), size=2.5 ) + 

    coord_flip()+ 

    theme_ipsum() + 

    theme( 

        legend.position = "none", 

    ) + 

    xlab("") + 

    ylab("Value of Y") 



 

 



 

 

 

 


